Nmsa:

ManeHbkan KOHTpPOIbHaA No uMnepaTusam

Translate each of the given [Hago + INF.] expressions (1) into an imperative (direct command), and then
(2) into a reported (indirect) command. Pay attention to the pronouns, which tell you whether a 1%y P
or Srd-person imperative is required.

Examples:
Given:
Tebe Hago npounTaTh AHHY KapeHHHy.

Answers (* Tebe = 2™ person singular):
1. [poyuraii AHHY KapeHuHy/
2. Hrebe ckaszana, 4To0bl Thi APOYHTAT AHHY KapeHnHy.

1. 3aBTpa Tebe Hago BCTaTb NopaHsbLLe.

2. HaM Hago BbINnTb 3a gpyxby.

3. EMy Hafo nepeBecTU 3Ty CTaThIO.

4. MHe Hafo c6eraTb B antTeky 3a acnupuHOM.

5. Bam Hago noexatb B LeHTp.

6. m Hafgo Yauwe y6upars CBOWA [OM.

7. EA Hago nuTb 60nblie BOAbI.

8. Tebe yxKe He HAA0 KYPUTD.

9. Ham He Hago roToBUThLCH K SK3aMeHam.

10. Bam He HaJo Tak paHo BCTABATb.
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